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PSO Population size | Inertia weight C1 C2
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[ Population size | Crosover rate | Mutation rate | Cressover and Selection
G4 50 085 003 One-paint and Ronlet
Population size | Inertia weight C1 2
a0 1.6 1.49 1.49
Population size | Inertia weight C1 2
Island | PSOL 10 0.6 147 1.5
maodel | PS2 10 0.6 149 149
EaO3 10 0.6 144 148
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GA Population size Crossover rate Mutation rate Crossover and Selection
30 0.83 0.03 One-point and Roulet
PSO Population size Inertia weight C1 C2
30 0.6 1.49 1.49
Island Model Population size Inertia weight C1 C2
PSO1 10 0.6 1.47 1.51
PSO2 10 0.6 1.49 1.49
PSO3 10 0.6 1.44 1.48




